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hitsEABRREIRERIR
AR ERE

X — X, X, —X
L(x)= »+ Yo
X — Xy X — Xy

R(x) = f(x) — L(x)
HR{E S, A

R(x)=C(x) (x — xp)(x — x1)
Bl fix) —L(x) = C(x) (x — xp)(x —x1)

C(x) =222




it B HR(EIRZE R

EHES.2 ¥/ fix)eCla, b], H f(x) f(a, ))ARH
n+1frF8, BRES R

aA<Xy <X <---<x,<b

|)'||]5('H?E1_Ixe[a b], 7% KE L,(x) = f(xy) H) n IX
A{EZ L, (x) BIRE

R, (x)= f(x)-L,(x)=

f"E)
(n+1)!

a)n+1 (x)

ﬂ':lja @, (xX)=(x-x)(x-x,)(x—x,)
é:n E(tl, b) ﬂ'—ﬁxﬁ*




it B HR(EIRZE R

HERA: 18 @,11(x) =(x — x)(x —x)*++* (x — X,,)

FR{E R
Ln(xk) =f(xk) (k = 0919"-9”)
HMELECHERS

J1x) = L, (x)= C(X) @y11(X)

HE xE(a, b), X tE(a,b). FTKCx),
F@)=f®-L,()-Co,, (1)
.‘E%a F(x) =0, F(xj) =0, (yj=0,1,---,n)




it B HR(EIRZE R

FO B 2)MERET S, iRiERoleEIR, F(¢)
HEXB(a, HRZLE (n+DTMHEHREFER.

UL 2EHE, F (D) FEIXIE] (a, b)) AZED B
—1PEE. WFEE = (a,b), EFeD(£)=0

F(n+1) (t) — f(n+1) (t) . L(nn+1) (t) _ Ca)(n+1) (t)

n+1

S(E)-C(n+1)!=0

n+1 (n+1)
c=L""® 3 fo-Lw=I"Dy

(n+1)! (n+1)! .




HitE B HiGR(ERZERIN
Bl HIF=RERAIEEIRE
f(x) = =24 bx — 7Tz° + 22°

X 0 1 2 3
f(x) -2 -2 -4 4

Ls(z) = f(z) = =2 + bx — Ta® + 22°




KRB HREIRERIR
Bl BN HR{E R A IEZ R f(x) = sin x, EN=m

—_— A l-:;lﬁo

X 0 /2 T
Sinx | 0 1 0

L(x)=4x(z-x)/ 7’
|R, |=|cosé || x(x—7m/2)(x—7)|/6

?:i aEm: £XiEg [0, 7] AENGESESESS
S RungeII R

B R G



hitsEABREIRERIR

$515.3 ¥ y = fix) F£EX18] [a, b] EBZELE B f(x)
£ (a, HRE B2 S H, B Hf (o) 1EX8)3m 2 A
FE. AR Lxe (a, )BT, B|f ”(x)|<M. i\ iEAR

|R,(x) < %(b—a)z

1EBA ALagrangeffi{HiRE EH
R0 = f()- 1,0 =L (x-a)(x-p)
Shx)=|(x-a)(x-b)

a+b_ (b-a)’ M

max h(x) = h(——) = | R (x)|< —(b-a)’

a<x<b 4 7




hitsEABREIRERIR

f‘_Fﬁ EEHIM sin x Z£[0, 7 | LFHRE SRR, E
R A2 MR ETTEIERE R BUEER, sE/EREIN SR

i, BlR Y RP ETEERIENDKINENZ L ALF?
& WS IKALR, W x; =jh (j=0,1,"",n).
é' xe(x'a xj+1)HTJ.

1
sin x ~Z[(x X;)sin x

i (X, —x)sinx, ]

B R G



PESHIREXT

H'Rxﬂa X1 xzﬁk:ﬁ'&@ﬁl
P(x)=ay + a,(x — xy) + a, (x — xp)(x — x,)

7 e
P(x0)=1(xy), P(x1)=f(xy), P(x;)=1(x;)
fREEEFSIHxTa,a, 0,572
a, = f(x,)
ay+a,(x;—x,) = f(x,)

a4y +a,(x, —X,)+a,(x, — x) ) (X, —x;) = f(x,)

N




PERNEETE

723053 BEEEH fix) T xox, - vx, DAY
Eﬂxo)aﬂxl)a o °9f(xn)-ﬁu% l#] ,Ijlsl,l

— 1= f[xj9xj+1] _ f(x;,)—f(x;)
Xjr1 =X,

SIxi0%,1= flx;,x;,]

ZHE flx,x,,,x.,]=
f[xpx1+19x]+2] Xiy—X; (j=0,1,...,n-2)
nMBE  flx, X, Hx,]= f[xl""’x;]__i[xos"'xn_ll

B R G



PERNEETE

Bl HeRBET X
KREZMBIE |y

BARNARXHE—MBE. —ME. =M9E
x | fx) —HE | ZHBE | SHigE
-2 -56
.1 | 16
0 | -2 @

1 | -2 0 7 @
3 4 3 1 2




PERNEETE

MATLABRER1+E L s
x=[-2-101 3]’; 1 -16 40
y=[-56 -16 -2 -2 4]’; 0 -2 14 -13

= Sdy=Y; 1 2 0 -7 2
data=[x,y|;dy=y; beoe g

n=length(x);

for k=1:n-1
dx=x(k+1:n)-x(1:n-K)
dy=diff(dy)./dx;
f=zeros(n,1);f(k+1:n)=dy;
data=[data,f];

end

data )
3B Bl




PZERIEIETE
Ni(x)=-56 +40(x +2) —13(x +2)(x +1) +
2x+2)(x+1) x
a,=—56+80—-26=-2
a,=40-39+4=5
a,=—13+6=-7

a, =2
P(x)=-2+5x-T7x*+2x’
R ERTTE:

Ny(x) = =56 + (x +2) [40 +(x + 1) [~ 13 +2 x]]

B R G



S\ RERZE

Ain 2 s E 7 IR HR{E T =R X 0,x 0, X, Sx)
HIBMZERA foo f1s Lo >

(Ds/,

QItFHE s — fi+ (x-x) *s  (k=n-1,n-2, -+, 0)

(3) N(x)=s

RERZGREFEE—HEE, n X4 HEELANE

FT XA HREA, 15&%%175&1‘5% Bl

R (x)= S )
(n+1)!

n+1(x)

@D, (xX)=(x—x)(x—x,)(x—Xx,)

14



UNR

BIHEEEFImiMEERZE:
Langrange¥fi{Bix. NewtonifiEiZ,

HES: 1) iHEseEE, B

X; X X} .o Xn
Yi=fix) Yo Y1 Yn

2) R—PIRHEABI nBIEAS I,

B R G



LangrangehR{EERBEHEERIEIE

L,(x)= Z:;o yil;(x)
NewtonfREERARZFENTE [19EF
N, (x)= f(xy)+ flxy,x1(x—xy)

bt fLXg e, (= Xy) (X=X, )

it MMAERNGERER (E—TE) !&

B R G
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